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Profit and Loss

1. A Shopkeeper sold his goods at a profit of

1
125%. Find the C.P. of article if S.P. is Rs.

1890.
o R o # 125% % e w
T 9% 1 A Yod 1 B A Fosha o €.1890
27
(A) 1680 (B) 1780
(C) 1580 (D) 1880

2. A shopkeeper sold his article at a loss of
15%. Find the C.P. if S.P. is Rs. 1360.
Teh THMR STOT Sl i 15% B R a=an € 3
fasha qea 1360 @ @ FF YA FA BM?
(A) 1500 (B) 1600
(C) 1400 (D) 1800

3. S.P. of 9 articles is equal to the C.P. of 12
articles. Then find the profit or loss percent.
9 aEget w1 fosra goa 12 awgeti & %A god & IR
g @ o wfae @ =i faer s g2

2
(A) 333% (B) 33%

2
(C) 31% (D) 335%
4. C.P. of 44 articles is equal to the S.P. of 55
articles. Find the profit or loss percent.

44 TEIA 1 A Yo 55 TA & faa oF & R

2 @ forem wfaer enw =0 =i =2
(A) 20% (B) 25%
(C) 10% (D) 15%

5. On selling 25 oranges a shopkeeper gains
S.P of 5 oranges. Find the profit or loss

percent.
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25 F=R 9= W fordlt THMIR &1 5 T<1 & fa6d g4
% TR N B0 € A [ R W I Foha wfard @
71 71 B

(A) 25% (B) 20%

(C) 15% (D) 5%

On selling 72 articles a shopkeeper gains
S.P. of 9 articles. Find the profit or loss

percent.
72 ST 99 T T THRR 1 9 Sgell & fawa 7o
& SR 1 Bl @ Al 39 fehe wfdera onw 1 et e

4 3
(A) 14— % (B) 14—%

2 1
(C) 147% (D) 147%

On selling 33m cloth a shopkeeper loses C.P
of 11m cloth. Find the loss percent on whole

transaction.

33 Hl. FUel Fo W fFH FHFFEIR F 11 H. FIE *
FI Yo & SER T SR @ Al B giaerd e gim?

2 1

(A) 33% (B) 33%
2

(C) 31% (D) 335%

A dishonest milkman sells milk at C.P but

he mixes water into the milk and gains

1
125% What is the ratio of water to the milk

in the mixture?

TF FEAM Y TN 3Y i ARG Jod W F9 T I
Fd © fong Sod g foema @ oiR 12%% AT HH
g @ fagor & art o gu %1 F STuE gm?

(A) 11:8 (B) 7:5

(C) 9:7 (D) 9:8
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9.

10.

11.

12.

A dishonest sweet seller professes to sell
sweets at C.P. but he uses a false weight of
900g instead of 1 kg. Find the profit or loss

percent during the whole transaction.

T M e aren faeal #1 @ qod W S
T[E HI & TR T Iyl oo T TwiEe Hr € 1
foh. 1 STE 900 . Tiew § o 59 feRen wfter we
71 7 BI?

4 2
A) 1 16(% B) 1 150/0

5 5
(©) 115‘%) (D) 1150/0

A shopkeeper sells his goods at 10% profit
but he uses a false weight of 800 g instead of
1 kg, then find his profit percent on whole

transaction.

T SEHM JHMIR ST S 1 10% ST T =l
2 fFq e 1 fFm. =t Sg 800 M. dieran € 1 S/ foha
yfaera ene gm?

1 1
(A) 325% (B) 375%
C 3310/ D 3510/
(C) 925 % (D) 205 %

A dishonest shopkeeper sells his goods at
C.P but he uses a false weight and gains 25%,
find the false weight which he uses instead of

1 kg.

T FEAM THMIR T 1 ANG Jod T a9 &1
T HYal @ fohg & 3[feql oo &1 A war @
3R 259% TN FHAC ¢ qf 9% 1 fwun F e
IS HT THATE FHIAT T7

(A) 600 gm /. (B) 800 gm /.

(C) 700 gm/. (D) 900 gm /7.

A dishonest shopkeeper sells his goods at

C.P. but he uses a false weight and gains
20% , find the false weight which he uses

instead of 750g.
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13.

14.

15.

T FEAM SRR ST TEGST 1 AT Jod T =+
1 @1 FI ¢ fohg TF Ifeqel a5 w1 WER O 7
3R 20% Y FHAC 2 df 750 TW HI S8 fomed 7
T T AT B2
(A) 625 gm/7 (B) 525 gm/7m.
(C) 650 gm/7.
A man buys pencil at the rate of 6 for Rs. 5
and sells them at 5 for Rs. 6, then find the
profit or loss percent during the whole

(D) 725 gm/7.

transaction.

T =t 5 ®. | 6 Ufae Tl € 3k 6 ® | 5 =
A RO WY foma wfaerd &1 o an =17 gei?
(A) 33% (B) 45%
(C) 54% (D) 44%

A man buys some lemons at 2 for Rs. 1 and
same number of lemons at 1 for Rs. 2, he

sells them at 3 for Rs. 3. What is his gain/loss
percent in this transaction.

T Ao B A 1% H 2 3R S & AL 2 T F 1
¥ TliEdr ® R 3 & ¥ 3 g o € o 39 R wfer
o9 AT B B
(A) 10% (B) 25%

(C) 20% (D) 15%

Some toffees were bought at 11 for Rs. 10
and same number of toffees at 9 for Rs. 10.
If all toffees were sold at Rs. 1, find the
profit/loss percent during the whole
transacton.

F9 AMRE 10 & H 11 % 99 ° 3ot & AfwA 10
® 7 9% & W @il T g e w1 ® H
ZET TR = TN T R G- H R faerd @ a1 g
B2
(A) 2% B) 1%
(C) 1.5% (D) 2.5%
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16. A wholesaler gives 30 pens to a retailer at

17.

18.

19.

MRP of 27 pens. Find the profit precent of
retailer if he sells all the pen at MRP.
T i AR fRE e AR i 30 T 27 T #
Afehd Hoa W 3@ T 2w A qeft T i sAfera
qod R 99 31 ® 39 e wfder e gimi?

(A) 11%% (B) 11%%
(C) 11%% (D) 11%%

A wholesaler gives 40 pens to a retailer at
MRP of 36 pens, the retailer sells all the pens
after 1% discount, then find the profit
percent of retailer during the whole

transaction.

T ik AN et |t =i 1 40 T, 36 W
% sfferd Yod W AT 8| FERT SATIR 1 Wi w1 g
[ & X 3% 99 1 ¢ qaed SH fwRa wioer @
Bm?

(A) 20% (B) 15%

(C) 10% (D) 25%

A man purchases some article for Rs. 5400.
He sells 2/3™ of them at 15% profit. At what

profit percentage shoud he sell the
remaining articles to obtain an overall profit

of 12% ?
T AT HB T 5400 %. H TR 71 € 2/3 TGl
HT 15% & T W o=l g A o8 U gl w fwe
g & o W 99 fF S8 W G W 12% FT A
I

(A) 5%
(C) 7%

(B) 6%
(D) 8%

Geeta purchases a plot of land for Rs. 96000.
She sells 2/5™" of this plot at 6% loss. At
what profit percent should she sells the

remaining to get 10% profit overall?
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Tl T wiE 1 96000 T. § TUEH T 98 3T 2/5

20.

21.

22.

23.

T T 6% I T T St © I H1 T R % @1
™ 99 fF 38 W IR W 10% FT @I

(A) 20%% (B) 21%%

(©) 20%% (D) 21%%

A shopkeeper sells his goods at 12% loss. If
he had sold it for Rs. 18 more then he would
have gained 18%. Find the C.P. of article.

Th HFER STOHT el 1 12% A9 TR el & 47
o U 18 T. 3Mfueh W o= Al 18% @I Tal 81 o

%A A I B?
(A) Rs. 400 (B) Rs. 100
(C) Rs. 200 (D) Rs. 300

A shopkeeper sells his goods at 7% loss. If he
had sold it for Rs. 64 more then he would

have gained 9%. Find the C.P. of Article.

T SHTER ST T&SH h 7% Ht B R S=a € 4
Iz I 64 T. AfuE B I A Y 9% T AT B T
T g 1 HA oI F B2

(A) Rs. 300 (B) Rs. 400

(C) Rs. 100 (D) Rs. 200
Neha wants to sell a watch at a profit of 20%.
Had she bought it at 10% loss and sold it for

Rs. 30 less she would have gained 20%. The
original C.P. of watch is -

TR ST TS 20% H AN W A=Al ARl © A a7
TH 10% FH | TR 31X 30 & &9 § 99 q I 20%
HT AT B S| A SET F SAGR qo I F T S
(A) Rs. 150 (B) Rs. 200

(C) Rs. 250 (D) Rs. 300

Vikram sell his goods at 10% P. Had he
purchase it for 20% less and sold it for Rs.
20 more then he would gain 40% Find initial
CP.

forenm fordht &g 1 10% o9 R =l 21 7R 384 T4
20% F9 H T B AR 20 T S H S B At
IH 40% T A9 T URFAE ®. H A R

(A) 2980 (B) 1200

(C) 1000 (D) 31160
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24.

25.

26.

27.

28.

29.

Reshav sells his goods at 20% P. Had he

purchase it for 10% less and sold it for ¥18
less then he would gain 30%. Find initial
CP.

Toma fordt o5 Sl 20% N9 R S 1 SR ST T
10% 9 H SIS I 7R 18 % w0 H o1 Bl af 39
30% 1 &9 BNl IR . 9. F@ HA

(A) X620 (B) %580

(C) X600 (D) %640

A shopkeeper allows two successive
discounts of 50% and 40% on MRP. Then
find its equivalent discount.

T THMSR STTA! JeT T 50% F 40% % I AT
FT A § A SURT TGS AL HT TAN?

(A) S50% (B) 65%

(C) 60% (D) 70%

A shopkeeper allows 3 successive discounts
of 50%, 40% and 20%. Find his equivalent
discount.

T THMIR ST TG F1 50%, 40% 3R 20% W
T HANT T AT © A SHRT THGET T2 FT T2
(A) 74% (B) 76%

(C) 75% (D) 77%

The MRP of a piano was Rs. 15000 at the
time of sale. There were three successive

discount of 20%, 10% and 10% respectively.
Find the S.P. of piano.

T a5 1 AfRd qod faehl & T9F 15000 ©. o1 39
W™ 20%, 10% 3R 10% & 9 FHAFE I &3 9 &
@t fasa g &= Bhm?

(A) 9890 (B) 8720

(C) 9720 (D) 7720

Nishank Pathak marks his goods 30% above

his cost price but allows a discount of 10%
at the time of sale. His gain is:

e/ WIS ST97 WM &1 3ifehd Tod 38 %9 9od |
30% eferes siferd wedl €, T €, TReg Sud 9HG 98
10% 1 9221 <1 & d STH1 o Jfaer ghm

(A) 18% (B) 17%

(C) 19% (D) 20%

An fan is listed at Rs. 1500 and a discount
of 20% is offered on the list price. What
additional discount must be offered to the

customer now to bring the net price to Rs.
11047?
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30.

31.

32.

33.

20% T T2 & IR R, AU F 1104 T F BRI

% fore sos effafied am-o g2 & o @2
(A) 10% (B) 9%
(C) 15% (D) 8%

The marked price of a TV is Rs. 16000. After
two successive discount it is sold for Rs.
11400. If the first discount is 5%, then the
rate f second discount is:

et Jeft 1 SifeRd I 16000 T B T HiFF T2
% 91K T8 11400 T § 41 S 21 AR TR B2 5%
g, @ 3 B R fRa 72

(A) 25% (B) 20%

(C) 10% (D) 30%

The marked price of a watch is Rs. 1600.
The shopkeeper gives successive discount
of 10% and x% to the customer. If the

customer pays Rs. 1224 for the watch, the
value of x is:

T TEI 1 HfRT ToF 1600 €I 71 STHT fashal T
TGS 1 HAFAR 10% T x% Hi 92 2l © 3R
TUER 39 1224 9@ ¥ T oAl B TIEAR X
A F F?

(A) 10% (B) 20%

(C) 15% (D) 12%

A shopkeeper always gives discount equal

to 25% and gains 25%. If the C.P. of the
article is Rs. 1440, then find the MRP.

T& THMER ST agall W 25% &l B = & a1]
25% TN FHAM T I 9% F1 9 God 1440 T o
a5 *1 sifa goa g

(A) 4800 (B) 2400

(C) 1100 (D) 1200

A shopkeeper mark his goods at such a
price that after allwing a discount of 12.5%
on the marked price he can earn a profit of

20% of the article that cost him Rs. 1400
then find its marked price.

T RN AT I3t I T 39 TR SAfohd Ll
2 fF 12.5% 92 98 20% A9 FHAC 2| SR I
F9 g 1400 9 8 a1 AR goa I F

(A) 1950 (B) 1925

(C) 1920 (D) 1935
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